SOME MULTIVARIATE t-DISTRIBUTIONS1

By K. S. MILLER

Columbia University Electronics Research Laboratories

1. Introduction. It is our objective in this paper to consider various distributions which may be called "generalized t-distributions". Certain types of generalized t-distributions (and some of their applications) have been investigated in [1]–[8]. We have derived, under various hypotheses, many different frequency functions which could be called generalized t-distributions. However, if the distribution functions are complicated, for example, if they are represented as an infinite series of higher transcendental functions, then their practical usefulness is limited. With this in mind we have restricted ourselves to reporting only those situations where we have been able to obtain the density function in closed form.

Let X, X_1, X_2, \dots, X_p be Gaussian vectors of dimensions p, n_1, n_2, \dots, n_p respectively. Let $t_k = x_k/r_k$, $1 \le k \le p$, where $X = \{x_1, \dots, x_p\}$ and $r_k = |X_k|$, $1 \le k \le p$, is the norm of X_k . Then $T = \{t_1, \dots, t_p\}$ will be called a generalized p-dimensional t random vector. Of course, in general, X, X_1, X_2, \dots, X_p will be correlated. Many "generalized t variates" we have observed in the literature may be subsumed under the above definition.

2. Multivariate t-distributions. In the following theorems we shall use the standard notation $\Gamma(\cdot)$, $B(\cdot, \cdot)$, $K(\cdot)$, $E(\cdot)$, $D_{-\nu}(\cdot)$, ${}_1F_1(\cdot, \cdot; \cdot)$, ${}_2F_1(\cdot, \cdot, \cdot; \cdot)$ to denote, respectively, the gamma function, the beta function, the complete elliptic integral of the first kind, the complete elliptic integral of the second kind, the parabolic cylinder function, the confluent hypergeometric function, and the hypergeometric function. If Σ is a square matrix, we shall write $|\Sigma|$ to indicate the determinant of Σ . Also, if $Y = \{y_1, \dots, y_n\}$ and $Z = \{z_1, \dots, z_n\}$ are n-dimensional random vectors with $\{y_k, z_k\}$, $1 \le k \le n$, independent and identically distributed normal N(0, M), then we shall say $\{Y, Z\}$ is of class $N_n(M)$.

Our main technique is simple. We write the density function of our t random vector as a multiple integral and apply our knowledge of special functions (see, for example, [9]) to reduce the integrals to closed form. We shall merely sketch the proofs. In particular, we shall have a number of occasions to consider various special cases of the integral:

$$(2.1) J(a, b, c, n, m) = \int_0^\infty \int_0^\infty x^n y^m e^{-\frac{1}{2}(ax^2 + by^2)} e^{-cxy} dx dy.$$

The results we need are expressed in the following lemma.

LEMMA. Let a and b be positive, c a real number, and n a nonnegative integer.

Received 3 December 1964; revised 4 April 1968.

The research reported in this paper stems from a project supported by the U. S. Army Research Office-Durham under contract DA31-124-ARO-D-255.

1605

Let $c^2 < ab$. Then

(2.2)
$$J(a, b, c, n, n) = \Gamma(n+1)B(\frac{1}{2}, n+1)(c+(ab)^{\frac{1}{2}})^{-(n+1)}$$

 $\cdot {}_{2}F_{1}(n+1, \frac{1}{2}, n+\frac{3}{2}; (c-(ab)^{\frac{1}{2}})/(c+(ab)^{\frac{1}{2}}))$

$$(2.3) J(a, b, c, n, n) = \frac{1}{2} (-1)^{n+1} (\partial^{n+1}/\partial c^{n+1}) (\operatorname{arc cos } c/(ab)^{\frac{1}{2}})^{2},$$

$$(2.4) J(a, b, 0, n, n) = 2^{n-1} (ab)^{-\frac{1}{2}(n+1)} \Gamma^{2}(\frac{1}{2}(n+1)).$$

Proof. If we make the change of variable x = u, y = t/u, and let m = n in (2.1), then the integral with respect to u may be evaluated [10], page 114, leaving

$$(2.5) J(a, b, c, n, n) = \int_0^\infty t^n e^{-ct} K_0(t(ab)^{\frac{1}{2}}) dt$$

where $K_0(\cdot)$ is the modified Bessel function of the second kind and order zero. A reference to [9], page 50, reduces (2.5) to (2.2), and a reference to [10], page 115, reduces (2.5) to (2.3). We obtain (2.4) directly from (2.1) by letting c = 0 and m = n.

Our first theorem concerns bivariate t-distributions.

THEOREM 1. Let $X = \{x_1, x_2\}$ be normal $N(0, \Sigma)$ and let $\{Y, Z\}$ be of class $N_n(M)$ where X is independent of $\{Y, Z\}$. Let $U = \{u_1, u_2\}$ where $u_1 = x_1/|Y|$, and $u_2 = x_2/|Z|$.

- (i) If x_1 and x_2 are independent, then the density function of U is
- $(2.6) \quad h(U) = \left[B^{2}(\frac{1}{2}n, \frac{1}{2})(\alpha\beta |\Sigma|)^{\frac{1}{2}}(\alpha\beta |M|)^{\frac{1}{2}n}\right]^{-1} {}_{2}F_{1}(\frac{1}{2}(n+1), \frac{1}{2}(n+1), \frac{1}{2}n; \lambda^{2}).$
 - (ii) If Y and Z are independent, then the density function of U is

(2.7)
$$h(U) = nB(n+1,\frac{1}{2})[B(\frac{1}{2}n,\frac{1}{2}n)\pi 2^{n-1}|\Sigma|^{\frac{1}{2}}|M|^{\frac{1}{2}n}]^{-1} \cdot (\gamma + (\alpha\beta)^{\frac{1}{2}})^{-(n+1)} {}_{2}F_{1}(n+1,\frac{1}{2},\frac{1}{2}(2n+3);(\gamma - (\alpha\beta)^{\frac{1}{2}})/(\gamma + (\alpha\beta)^{\frac{1}{2}})).$$

- (iii) If in (i) we let n = 2, then
- $(2.8) \quad h(U) = \left[2\pi \left|\Sigma\right|^{\frac{1}{2}} \left|M\right| (\alpha\beta)^{3/2} (1-\lambda^2)^2\right]^{-1} \left[2E(\lambda) (1-\lambda^2)K(\lambda)\right].$
 - (iv) If in (ii) we let n = 2, then

(2.9)
$$h(U) = -[4\pi |\Sigma|^{\frac{1}{2}} |M|]^{-1} (\partial^{3}/\partial \gamma^{3}) (\operatorname{arc cos } \gamma/(\alpha \beta)^{\frac{1}{2}})^{2}.$$

In the above formulas

$$lpha = \phi_{11}u_1^2 + w_{11}, \qquad \beta = \phi_{22}u_2^2 + w_{22},$$
 $\gamma = \phi_{12}u_1u_2, \qquad \qquad \lambda^2 = w_{12}^2/\alpha\beta$

where $M^{-1} = ||w_{ij}||_{1 \le i,j \le 2}$ and $\Sigma^{-1} = ||\phi_{ij}||_{1 \le i,j \le 2}$.

Proof. We may write

$$(2.10) h(U) = \int_0^\infty \int_0^\infty rsg(r, s) f(ru_1, su_2) dr ds$$

where $f(\cdot, \cdot)$ is the Gaussian density function and $g(\cdot, \cdot)$ is the Rayleigh density function [10], page 34. If we expand the Bessel function that appears in $g(\cdot, \cdot)$,

then (2.10) reduces to

$$(2.11) \quad h(U) = \left[\pi 2^{n-1} \Gamma(\frac{1}{2}n) |\Sigma|^{\frac{1}{2}} |M|^{\frac{1}{2}n}\right]^{-1}$$

$$\cdot \sum_{k=0}^{\infty} \left[k! \, \Gamma(\frac{1}{2}n + k) \right]^{-1} (\frac{1}{2}w_{12})^{2k} J(\alpha, \beta, \gamma, n + 2k, n + 2k).$$

Now (2.4) reduces (2.11) to (2.6), and (2.2) reduces (2.11) to (2.7). The identity

$$_{2}F_{1}\left(\frac{3}{2},\frac{3}{2},1;\lambda^{2}\right) = 2(\pi(1-\lambda^{2})^{2})^{-1}[2E(\lambda)-(1-\lambda^{2})K(\lambda)]$$

reduces (2.6) to (2.8) and (2.3) reduces (2.11) to (2.9).

For the density functions of (2.6) and (2.7) we may compute the moments $\mathcal{E}u_1^p u_2^q$ (where p and q are nonnegative integers less than n) in terms of the hypergeometric function.

THEOREM 2. Let $X = \{x_1, \dots, x_p\}$ be normal $N(A, \Sigma)$ and let Y be an n-dimensional vector normal N(B, mI) where I is the $n \times n$ identity matrix. Let X and Y be independent. Let $T = \{t_1, \dots, t_p\}$ where $t_k = x_k/|Y|, 1 \le k \le p$.

(i) If $|Y|^2$ is central chi-square, then the density function of T is

$$(2.12) \quad h(T) = 2w^{\frac{1}{2}n} [\Gamma(n+p)/\Gamma(\frac{1}{2}n)] [2^{\frac{1}{2}(n+p)} \pi^{\frac{1}{2}p} |\Sigma|^{\frac{1}{2}} (T'\Phi T + w)^{\frac{1}{2}(n+p)}]^{-1} \\ \cdot e^{-\frac{1}{2}A'\Phi A} e^{(T'\Phi A)^{2}/4(T'\Phi T + w)} D_{-(n+p)} (-T'\Phi A/(T'\Phi T + w)^{\frac{1}{2}}).$$

(ii) If X has mean zero, then the density function of T is

$$(2.13) \quad h(T) = w^{\frac{1}{2}n} \left[\Gamma(\frac{1}{2}n + \frac{1}{2}p) / \Gamma(\frac{1}{2}n) \right] \left[\pi^{\frac{1}{2}p} \left| \Sigma \right|^{\frac{1}{2}} (T'\Phi T + w)^{\frac{1}{2}(n+p)} \right]^{-1} \\ \cdot e^{-\frac{1}{2}wb^2} {}_{1}F_{1} \left(\frac{1}{2}(n+p), \frac{1}{2}n; b^2w^2 / 2(T'\Phi T + w) \right).$$

(iii) If A and B are both zero, then

$$(2.14) h(T) = w^{\frac{1}{2}n} \left[\Gamma(\frac{1}{2}n + \frac{1}{2}p) / \Gamma(\frac{1}{2}n) \right] \left[\pi^{\frac{1}{2}p} |\Sigma|^{\frac{1}{2}} (T'\Phi T + w)^{\frac{1}{2}(n+p)} \right]^{-1}.$$

In the above formulas $w = m^{-1}$, $\Phi = \Sigma^{-1}$, and b = |B|.

Proof. We may write

$$h(T) = \int_0^\infty r^p f(rT)g(r) dr$$

where $f(\cdot)$ is Gaussian and $g(\cdot)$ is noncentral chi. Expanding the Bessel function in $g(\cdot)$, as in Theorem 1, we are led to an infinite series of integrals of the form

$$\int_0^\infty r^{n+p+2k-1} e^{-\frac{1}{2}r^2(T'\Phi T+w)} e^{r(T'\Phi A)} dr.$$

But this integral is essentially a parabolic cylinder function [9], page 119. Thus h(T) becomes an infinite series of parabolic cylinder functions. In (i) we have B=0, which immediately reduces the infinite series to (2.12); and the fact that A=0 and

$$D_{-2\nu}(0) = [\Gamma(\nu)/\Gamma(2\nu)]2^{\nu-1}$$

reduces the infinite series to (2.13). Equation (2.14) is a special case of (2.13) (with B=0) or a special case of (2.12) (with A=0).

3. Ratios of Gaussian variates. The results of the previous section suggest the following theorems, analogous to Theorems 1 and 2 respectively.

Theorem 3. Let $X = \{x_1, x_2, x_3, x_4\}$ be normal $N(0, \Sigma)$. Let

$$z = x_1/x_2$$
 and $\zeta = x_3/x_4$.

Then the joint frequency function $p(z, \zeta)$ of z and ζ is

(3.1)
$$p(z,\zeta) = [2\pi^2 |\Sigma|^{\frac{1}{2}}]^{-1} (\partial^2/\partial c^2) (\operatorname{Arc\,sin} c/(ab)^{\frac{1}{2}})^2$$

where

$$a = \phi_{11}z^{2} + 2\phi_{12}z + \phi_{22},$$

$$b = \phi_{33}\zeta^{2} + 2\phi_{34}\zeta + \phi_{44},$$

$$c = \phi_{13}z\zeta + \phi_{14}z + \phi_{23}\zeta + \phi_{24},$$

and $\Sigma^{-1} = \|\phi_{ij}\|_{1 \leq i, j \leq 4}$.

(The fact that $c^2 < ab$ is easily verified.)

In the spirit of Theorem 2 we may compute a multivariate density function involving correlated Gaussian variates. The techniques used above readily yield the following theorem.

THEOREM 4. Let $X = \{x_1, \dots, x_p\}$ be a p-dimensional Gaussian vector and let $\{X, y\}$ be normal $N(A, \Sigma)$. Then the joint frequency function $\psi(Z)$ of $Z = \{z_1, \dots, z_p\}$ where $z_k = x_k/y$, $1 \le k \le p$, is given by

$$\psi(Z) = (2\pi)^{-\frac{1}{2}(p+1)}\Gamma(p+1)|\Phi|^{\frac{1}{2}}e^{-\frac{1}{2}A'\Phi A}e^{(A'\Phi V)^{2}/4V'\Phi V}$$

$$(3.2) \qquad \cdot (V'\Phi V)^{-\frac{1}{2}(p+1)}[D_{-(p+1)}(-A'\Phi V/(V'\Phi V)^{\frac{1}{2}}) + D_{-(p+1)}(A'\Phi V/(V'\Phi V)^{\frac{1}{2}})]$$

where $V = \{Z, 1\}$ and $\Phi = \Sigma^{-1}$. If A = 0, then

(3.3)
$$\psi(Z) = \Gamma(\frac{1}{2}p + \frac{1}{2})|\Phi|^{\frac{1}{2}}(\pi V'\Phi V)^{-\frac{1}{2}(p+1)}.$$

REFERENCES

- [1] CORNISH, E. A. (1954). The multivariate t-distribution associated with a set of normal sample deviates. Austral. J. Phys. 7 531-542.
- [2] Dickey, J. M. (1967). Matricvariate generalizations of the multivariate t distribution and the inverted multivariate t distribution. Ann. Math. Statist. 38 511-518.
- [3] DUNNETT, C. W. and Sobel, M. (1954). A bivariate generalization of Student's t-distribution, with tables for certain special cases. Biometrika 41 153-169.
- [4] GUPTA, S. S. (1963). Probability integrals of multivariate normal and multivariate t. Ann. Math. Statist. 34 792-828.
- [5] GUPTA, S. S. (1963). Bibliography on the multivariate normal integrals and related topics. Ann. Math. Statist. 34 829-838.
- [6] John, S. (1961). On the evaluation of the probability integral of the multivariate t-distribution. Biometrika 48 409-417.
- [7] Krishnaiah, P. R. (1964). Multiple comparison tests in multivariate case. Applied

- Mathematics Research Laboratory, Wright-Patterson Air Force Base, Ohio, Project No. 7071.
- [8] KSHIRSAGER, A. M. (1961) Some extensions of the multivariate t-distribution and the multivariate generalization of the distribution of the regression coefficient. Proc. Cambridge Philos. Soc. 57 80-85.
- [9] ERDÉLYI, A., MAGNUS, W., OBERHETTINGER, F., and TRICOMI, F. G. (1953). Higher Transcendental Functions 2. McGraw-Hill, New York.
- [10] MILLER, K. S. (1964). Multidimensional Gaussian Distributions. Wiley, New York.